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SECTION A (8 points)

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions. 

	Question 1:
	A. ozone
	B. opposition
	C. oppose
	D. overdose

	Question 2:
	A. damaged
	B. sacrificed
	C. distinguished
	D. developed


Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.
	Question 3:
	A. tremendous
	B. causality
	C. fidelity
	D. digital

	Question 4:
	A. contact
	B. concert
	C. constant
	D. concern

	Question 5:
	A. geologically
	B. obsolete
	C. picturesque
	D. refugee


Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 6: Patience is a kind of quality – and that’s _______ it takes to do anything well. 

	A. what
	B. that
	C. which
	D. why


Question 7: When I got up this morning, the kitchen was spotless. Alex _______ it before she went to bed last night.
	A. should have tidied
	B. needn’t have tidied 
	C. must have tidied
	D. mustn’t have tidied


Question 8: I hesitate to recommend him for the job, because ________ he has a good education, he has very little work experience.

	A. notwithstanding
	B. although
	C. nevertheless
	D. however


Question 9: Sunny, ​warm ​weekends have been few and ​far ________ this ​summer.
	A. between
	B. away
	C. from
	D. off


Question 10: Mary went to meet him with an air of ________. 
	A. expectancy
	B. expectant
	C. expectation
	D. expect


Question 11: She wasn’t feeling very well; otherwise, she _________ the meeting so early.
	A. wouldn’t leave
	B. didn’t leave
	C. wouldn’t have left
	D. hadn’t left


Question 12: Why should she stick her _____ out for them? They never helped her with anything.

	A. hand
	B. finger
	C. neck
	D. eyes


Questions 13: Many old buildings in this city are _________ to make way for new ones.
	A. cut down
	B. tracked down
	C. scaled down
	D. pulled down


Question 14: The average wavelength of visible light is 2,000 times _____ the diameter of an atom. 
	A. greater than
	B. as great
	C. much as
	D. more than that


Question 15: We know people are generally more aware of the importance of ________ a healthy and active lifestyle than they were.
	A. leading
	B. taking
	C. doing
	D. making


Question 16: I couldn’t get a wink of sleep last night, so I’m not really on the _____ today.
	A. mark
	B. fringe
	C. ball
	D. weakness


Question 17: Gymnastics truly is a sport for everyone, _________ age or ability.
	A. in place of
	B. regardless of
	C. not mention
	D. in case of


Question 18: To prepare for the housewarming party, Joline’s family bought _________ last week.
	A. round small wooden four tables
	C. four small round wooden tables

	B. four wooden small round tables
	D. four round wooden small tables


Question 19: Avatar ________ the highest-grossing film of all time but, for someone viewers, it’s all proving to be a little bit too perfect.
	A. may be
	B. must be
	C. can be
	D. have to be


Question 20: Air pollution poses a _______ to both human health and our environment.
	A. jeopardy
	B. difficulty
	C. problem
	D. threat


Question 21: It’s _______ rare to see large sharks in the Mediterranean Sea.
	A. credible
	B. credibly
	C. incredible
	D. incredibly


Question 22: Almost all economists agree __________ by trading with one another.

	A. nations that are gained
	C. nations they gain

	B. that nations gain
	D. gaining nations


Question 23: Ken and Laura are saying goodbye to each other after going to LOTTE Center. And they are going to have a date with each other later. 
Laura: “Well, it’s getting late. Maybe we could get together sometime.” 
Ken: “_______”
	A. Nice to see back you.
	C. Sounds good. I’ll give you a call.

	B. Take it easy.
	D. Yes, I’ve enjoyed it.


Question 24: Today, Minh watches Mai playing badminton in Phu Dong Health Tournament. During the break, he meets her and encourages her to play with flying colors.
Minh: “How well you are playing!”
Mai: “_______”

	A. Say it again. I like to hear your words.
	C. Thank you too much.

	B. I think so. I am proud of myself.
	D. Many thanks. That is a nice compliment.


Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 25 to 34.
Education is more important today than ever before. It helps people acquire the skills they need for such everyday (25) _______  as reading a newspaper or managing their money. It also gives them the specialized training they may need to (26) _______ for a job or career. For example, a person must meet certain educational requirements and obtain a (27) _______  or certificate before he can practice law or medicine. Many fields, like computer operation or police work, (28) _______  satisfactory completion of special training courses.

Education is also important (29) _______  it helps people get more out of life. It increases their knowledge and understanding of the world. It helps them acquire the skills that make life more interesting and enjoyable,(30) _______  the skills needed to participate in a sport, paint a picture, or play a musical (31) _______ . Such education becomes (32) _______  important as people gain more and more leisure time.

Education also helps people adjust to change. This habit has become necessary because social changes today take place with increasing speed and (33) _______  the lives of more and more people. Education can help a person understand these changes and provide him (34) _______  the skills for adjusting to them.

	Question 25:
	A. works
	B. jobs  
	C. actions
	D. activities

	Question 26:
	A. do
	B. prepare
	C. make
	D. work

	Question 27:
	A. license
	B. card
	C. diploma
	D. paper

	Question 28:
	A. requires
	B. requiring
	C. require
	D. to require

	Question 29:
	A. therefore
	B. despite
	C. although
	D. because

	Question 30:
	A. such as
	B. for instance
	C. such that
	D. for example

	Question 31:
	A. appliance
	B. equipment
	C. instrument
	D. device

	Question 32:
	A. increased
	B. increasing
	C. increase
	D. increasingly

	Question 33:
	A. effect
	B. affect
	C. affective
	D. effective

	Question 34:
	A. with
	B. for
	C. in
	D. to


Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.
Question 35: Researchers discounted a problem they should have been considering more seriously.
	A. rejected
	C. disregarded

	B. paid attention to
	D. disconcerted


Question 36: Government support will be essential if the project is to succeed.

	A. unavoidable
	B. extreme
	C. basic
	D. unique


Question 37: The development team needs to pull out all the stops to finish by the deadline.
	A. to come together in close array
	C. to enhance or obstruct the success

	B. to make every effort to achieve something
	D. to give up making something more excellent


Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.

Question 38: Raising living costs, together with escalating taxes, has proved to be a burden for 

                           A                                   B                                            C
everyone.
      D
Question 39: Someone who use a personal computer to perform only such tasks as word 
                                           A                                                                            B
processing and sending e-mail need not buy the most advanced model available on the market.
                                                       C                                                                       D

Question 40: The bridge-building ​project had ​problems with ​funding ​right from the word begins.
                                      A                                    B             C                                                    D
Question 41: If there’s a more funnier person in the world than him, I don’t know who it will be.
                             A                 B                                             C                                              D
Question 42: From the driver’s point of view, the new speed limits enacted by the state were more 

                          A                                                                    B                                                     C
stricter than the old laws.
                         D
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 43 to 52.

Most people can remember a phone number for up to thirty seconds. When this short amount of time elapses, however, the numbers are erased from the memory. How did the information get there in the first place? Information that makes its way to the short term memory (STM) does so via the sensory storage area. The brain has a filter which only allows stimuli that is of immediate interest to pass on to the STM, also known as the working memory.

There is much debate about the capacity and duration of the short term memory. The most accepted theory comes from George A. Miller, a cognitive psychologist who suggested that humans can remember approximately seven chunks of information. A chunk is defined as a meaningful unit of information, such as a word or name rather than just a letter or number. Modern theorists suggest that one can increase the capacity of the short term memory by chunking, or classifying similar information together. By organizing information, one can optimize the STM, and improve the chances of a memory being passed on to long term storage.

When making a conscious effort to memorize something, such as information for an exam, many people engage in “rote rehearsal”. By repeating something over and over again, one is able to keep a memory alive. Unfortunately, this type of memory maintenance only succeeds if there are no interruptions. As soon as a person stops rehearsing the information, it has the tendency to disappear. When a pen and paper are not handy, people often attempt to remember a phone number by repeating it aloud. If the doorbell rings or the dog barks to come in before a person has the opportunity to make a phone call, he will likely forget the number instantly. Therefore, rote rehearsal is not an efficient way to pass information from the short term to long term memory. A better way is to practice “elaborate rehearsal”. This involves assigning semantic meaning to a piece of information so that it can be filed along with other pre-existing long term memories.
Encoding information semantically also makes it more retrievable. Retrieving information can be done by recognition or recall. Humans can easily recall memories that are stored in the long term memory and used often; however, if a memory seems to be forgotten, it may eventually be retrieved by prompting. The more cues a person is given (such as pictures), the more likely a memory can be retrieved. This is why multiple choice tests are often used for subjects that require a lot of memorization.

Question 43: According to the passage, how do memories get transferred to the STM?

	A. They revert from the long term memory.

	B. They are filtered from the sensory storage area.

	C. They get chunked when they enter the brain.

	D. They enter via the nervous system.


Question 44: The word “elapses” in paragraph 1 is closest in meaning to _______.
	A. passes
	B. adds up
	C. appears
	D. continues


Question 45: All of the following are mentioned as places in which memories are stored EXCEPT the _________.

	A. STM
	B. long term memory
	C. sensory storage area
	D. maintenance area


Question 46: Why does the author mention a dog’s bark?

	A. To give an example of a type of memory

	B. To provide a type of interruption

	C. To prove that dogs have better memories than humans

	D. To compare another sound that is loud like a doorbell


Question 47: How do theorists believe a person can remember more information in a short time?

	A. By organizing it
	B. By repeating it
	C. By giving it a name
	D. By drawing it


Question 48: The author believes that rote rotation is ________.
	A. the best way to remember something
	C. ineffective in the long run

	B. more efficient than chunking
	D. an unnecessary interruption


Question 49: The word “it” in the last paragraph refers to _______.
	A. encoding
	B. STM
	C. semantics
	D. information


Question 50: The word “elaborate” in paragraph 3 is closest in meaning to ______.
	A. complex
	B. efficient
	C. pretty
	D. regular


Question 51: Which of the following is NOT supported by the passage?

	A. The working memory is the same as the short term memory.

	B. A memory is kept alive through constant repetition.

	C. Cues help people to recognize information.

	D. Multiple choice exams are the most difficult.


Question 52:  The word “cues” in the passage is closest in meaning to _______.
	A. questions
	B. clues
	C. images
	D. tests


Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.
Question 53: The nominating committee always meets behind closed doors, lest its deliberations become known prematurely.
	A. privately
	B. safely
	C. publicly
	D. dangerously


Question 54: My only misgiving is that we might not have enough time to do the assigned job properly.
	A. worry
	B. doubt 
	C. apprehension
	D. assurance 


Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 55 to 64.
Geographers say that what defines a place are four properties: soil, climate, altitude, and aspect, or attitude to the Sun. Florida’s ancient scrub demonstrates this principle. Its soil is pure silica, so barren it supports only lichens as ground cover. (It does, however, sustain a sand-swimming lizard that cannot live where there is moisture or plant matter the soil.) Its climate, despite more than 50 inches of annual rainfall, is blistering desert plant life it can sustain is only the xerophytic, the quintessentially dry. Its altitude is a mere couple of hundred feet, but it is high ground on a peninsula elsewhere close to sea level, and its drainage is so critical that a difference of inches in elevation can bring major changes in its plant communities. Its aspect is flat, direct, brutal – and subtropical. Florida’s surrounding lushness cannot impinge on its desert scrubbiness.

This does not sound like an attractive place. It does not look much like one either; Shrubby little oaks, clumps of scraggly bushes, prickly pear, thorns, and tangles. “It appear Said one early naturalist,” to desire to display the result of the misery through which it has Passed and is passing.” By our narrow standards, scrub is not beautiful; neither does it meet our selfish utilitarian needs. Even the name is an epithet, a synonym for the stunted, the scruffy, the insignificant, what is beautiful about such a place?

The most important remaining patches of scrub lie along the Lake Wales Ridge, a chain of paleoislands running for a hundred miles down the center of Florida, in most places less than ten miles wide. It is relict seashore, tossed up millions of years ago when ocean levels were higher and the rest of the peninsula was submerged. That ancient emergence is precisely what makes Lake Wales Ridge so precious: it has remained unsubmerged, its ecosystems essentially undisturbed, since the Miocene era. As a result, it has gathered to itself one of the largest collections of rare organisms in the world. Only about 75 plant species survive there, but at least 30 of these are found nowhere else on Earth.
Question 55: What does the passage mainly discuss? 
	A. How geographers define a place

	B. The characteristics of Florida’s ancient scrub

	C. An early naturalist’s opinion of Florida

	D. The history of the Lake Wales Ridge


Question 56: The author mentions all of the following as factors that define a place EXCEPT ___.
	A. aspect
	B. altitude
	C. soil
	D. life-forms


Question 57: It can be inferred from the passage that soil composed of silica _________. 

	A. does not hold moisture
	C. nourishes many kinds of ground cover


	B. is found only in Florida
	D. provides food for many kinds of lizards


Question 58: The word “sustain” in line 5 is closets in meaning to _______.

	A. select
	B. strain
	C. support
	D. store


Question 59: The author mentions the prickly pear (line 11) as an example of ______. 

	A. valuable fruit-bearing plants of the scrub area

	B. unattractive plant life of the scrub area

	C. a pant discovered by an early naturalist

	D. plant life that is extremely are


Question 60: The author suggests that human standards of beauty are _______.

	A. tolerant
	B. idealistic
	C. defensible
	D. limited


Question 61: The word “insignificant” in line 14 is closest in meaning to A

	A. unimportant
	B. undisturbed
	C. immature
	D. inappropriate


Question 62: According to the passage, why is the Lake Wales Ridge valuable? 
	A. It was originally submerged in the ocean.

	B. It is less than ten miles wide.

	C. It is located near the seashore.

	D. It has ecosystems that have long remained unchanged.


Question 63: The word “it” in line 21 refer to ______. 

	A. Florida
	C. the Lake Wales Ridge


	B. the peninsula
	D. the Miocene era


Question 64: The passage probably continues with a discussion of _______. 

	A. ancient scrub found in other areas of the country

	B. geographers who study Florida’s scrub

	C. the climate of the Lake Wales Ridge

	D. the unique plants found on the Lake Wales Ridge


SECTION B (2 points) 

I. Finish each of the following sentences in such a way that it means the same as the sentence printed before it. Write your answers on your answer sheet.

Question 1: We worked as hard as we could, but we didn’t manage to finish everything in time.
Much ________________________________________________________________________.
Question 2: Adults laugh less than children, probably because they play less. 

The reason ____________________________________________________________________.

Question 3: Buying a daily newspaper seems pointless to me.

I can’t see _____________________________________________________________________.
Question 4: I couldn’t reach the shelf. It was too high.
The shelf ______________________________________________________________________.
Question 5: “Is this pasta a new experience for you, Carol?” said Peter.

Peter asked Carol if it  ____________________________________________________________. 
II. In about 140 words, write a paragraph about the importance of environmental protection. Write your paragraph on your answer sheet. 

The following prompts might be helpful to you. 

- Benefits from the environment.
- If people didn’t protect the environment, what would happen to the human life?

- What should we do to protect the environment?
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B. PHẦN VIẾT (2,0 điểm) 

I. Viết tiếp câu (0,1 điểm x 5 câu = 0,5 điểm)

Câu 1: Much as we worked, we didn’t manage to finish everything in time.
Câu 2: The reason why adults laugh less than children might/may be that they play less.

Câu 3: I can’t see the point in/of buying a daily newspaper.

Hoặc: I can’t see any point (in) buying a daily newspaper.
Câu 4: The shelf was too high for me to reach.

Hoặc: The shelf wasn’t low enough for me to reach.

Câu 5: Peter asked Carol if it was the first time she had tried that pasta.
II. Viết đoạn văn (1,5 điểm)

	
	Mô tả tiêu chí đánh giá
	Điểm tối đa

	1
	Bố cục:
	0,40

	
	o Câu đề dẫn chủ đề mạch lạc 

o Bố cục hợp lí rõ ràng phù hợp yêu cầu của đề bài 

o Bố cục uyển chuyển từ mở bài đến kết luận 
	

	2
	Phát triển ý:
	0,25

	
	o Phát triển ý có trình tự logic

o Có dẫn chứng, ví dụ, … đủ để bảo vệ ý kiến của mình
	

	3
	Sử dụng ngôn từ: 
	0,30

	
	o Sử dụng ngôn từ phù hợp nội dung

o Sử dụng ngôn từ đúng văn phong/ thể loại 

o Sử dụng từ nối các ý cho bài viết uyển chuyển 
	

	4
	Nội dung:
	0,30

	
	o Đủ thuyết phục người đọc

o Đủ dẫn chứng, ví dụ, lập luận 

o Độ dài: Số từ không nhiều hơn hoặc ít hơn so với quy định 5% 
	

	5
	Ngữ pháp, dấu câu, và chính tả: 
	0,25

	
	o Sử dụng đúng dấu câu

o Chính tả: Viết đúng chính tả 

+ Lỗi chính tả gây hiểu nhầm/ sai lệch ý sẽ bị tính một lỗi (trừ 1% điểm của bài viết).

+ Cùng một lỗi chính tả lặp lại chỉ tính là một lỗi. 

o Sử dụng đúng thời, thể, cấu trúc câu đúng ngữ pháp. (Lỗi ngữ pháp gây hiểu nhầm/ sai lệch ý sẽ bị trừ 1% điểm bài viết.) 
	

	TỔNG:
	1,50
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Read the passage carefully and choose the best parts to fill in the blanks

   What exactly is a tornado? The general picture is familiar enough. The phenomenon usually occurs on a hot, sticky day with south wind and an ominous sky. From the base of a thunderhead, a funnel-shaped cloud extends a violently twisting spout toward the Earth. As it sucks in matter in its path, the twister may turn black, brown or even white. The moving cloud shows an almost continuous display of sheet lightning. It lurches along in a meandering path, usually northeast ward, at 25 to 40 miles per hour. Sometimes it picks up its finger from the earth for a short distance and then plants it down again. The funnel is very slender; its wake of violence averages about 400 yards wide. As the tornado approaches, it is heralded by a roar as a hundreds of jet planes or thousands of railroad cars. Its path is a path of total destruction. Buildings explode as they are sucked in by the tornado’s low-pressure vortex (where the pressure drop is as much as 10 percent) and by its powerful whirling winds (estimated at up to 500 miles per hour). The tornado’s lifetime is as brief as it is violent. Within a few tens of miles (average about 16 miles), it spends its force and suddenly disappears.

Câu 1. Tornadoes usually occur on _____ .


A. hot and humid days
B. hot days 
C. cold days 
  D. rainy days 


Câu 2. The twister’s colour is caused by _____.


A. the sun
B. the colour of the sky 
C. snow 
D. what it picks up 

Câu 3. A tornado _____.


A. meanders B. travels at a constant speed  C. travels in a straight line  D. stays on the ground at all times

Câu 4. The speed of a tornado is _____.


A. 10 miles per hour 

B. 85 miles per hour



C. 25 to 40 miles per hour 
D. 25 to 40 miles per day


Câu 5. The average width of the path of the funnel is _____.



A. the width of its finger    B. less than 40 yards   
C. 25 miles 
D. about 400 yards 



Câu 6. The sound which announces the coming of a tornado is similar to that made by _____.


A. vortex          B. a diesel engine    C. thunder and lightning

D. hundreds of jets 

Câu 7. A building in the path of a tornado most likely would _____.


A. be partially destroyed   B. be totally destroyed   C. lose its roof 
D. escape damage

Câu 8. According to this article, the winds of tornado _____.


A. are estimated at up to 500 miles per hour    
 B. drop the pressure 40 percent 





C. have been clocked at 500 miles per hour 
 D. travel at 16 miles an hour

Câu 9. Usually a tornado is spent after traveling about ………….. .


A. 6 miles 
B. 16 miles
C. 50 miles 
D. 400 yards 


Câu 10. Implied but not stated _____.

A. Tornadoes are caused by sheet lightning

  B. Nature is sometimes destructive


C. The tornado’s lifetime is as brief as it is violent      D. A tornado is a supernatural phenomenon

Read the passage carefully and choose the best parts to fill in the blanks.

    If you can roll a ball, you can play bowls. Everyone can play: young and old, men and women, the fit and the not so fit. It is the (11)____ outdoor game that really is a sport for all. What other sports can grandparents play on equal terms with their grandchildren? What other game is so simple that you could take up it today and be (12)____ in the national championship tomorrow?

      Simple? Perhaps that is not the (13)____ word. There are bowls players in their thousands (14)____ will tell you that, although bowls is a game that anyone can (15)____ in five minutes, it takes a lifetime to (16)____ it. They are the people who have developed a passionate interest in the game. (17)____ for outsiders, bowls is another word, and a strange and puzzling one. They see a bowl game in action and wonder what is going on.

     What the players are trying to do is easy to explain. Their (18)____ is to roll their bowls, called wood, as near as possible to the little white ball, called the jack. If one of your bowls finishes nearer to the jack than your opponent's, you score one point and he or she scores (19)____ If you have the two nearest, you score two, and so on. The skill involved in rolling a bowl that weighs around 2 kilos across about 40 meters so that it stops only a very  short (20)____ from the target  is just as impressive as the skills required in other sports.

Câu  11. A. special

B. one


C. alone 

D. individual
Câu  12. A. entering         
B. precisely

C. competing 

D. accurately


Câu  13. A. right

B. genuine 

C. just


D. suitable



Câu  14. A. when  

B. whose 

C. which 

D. who 

Câu  15. A. see through
B. pick up 

C. catch on

D. find out

Câu  16. A. tame

B. manage   

C. master

D. control   



Câu  17. A. However

B. Although

C. Unlike

D. Besides

Câu  18. A. point   

B. attempt

C. scheme

D. aim    

Câu  19. A. something
B. anything

C. nothing

D. everything

Câu  20. A. extent   

B. distance

C. range

D. length

Which underlined part has different pronunciation from the others?

Câu  21.  A. student 

B. stupid

C. studio

D. study

Câu  22.  A. chemist

B. cheap

C. child

D. chair

Which word has the different stress among them?
Câu  23. A. alternative                B. satisfy

C. continent

D. India

Câu  24. A. holiday                     B. implement 

C. diagnose

D. investigate


Câu  25. A. independence           B. education

C. impractical

D. entertainment  

Choose the correct part to complete the sentence.                                                                                                                                                                                                                                                                                                                     
Câu 26. Many organizations have been set up and funds have been ____ .


A. raised                    B. bought

C. risen


D. raise

Câu 27. She won the award for ____ her whole life to looking after the poor.


A. paying                  B. devoting

C. causing


D. attracting


Câu 28. Microwaves are used for cooking, telecommunications, and ____.


A. to diagnose medically  B. diagnosed medically
C. medical diagnosis
D. medical diagnosing                                        

Câu 29. I couldn’t ____ them when we climbed the mountain.


A. keep out of

B. keep up with 
C. keep away from
D. keep on with

Câu 30. It seems impossible to ____ terrorism in the world.



A. put stop to                             B. put an end of
C. put an end to
D. stop at



Câu 31. The director retired early ____ ill-health.


A. on account of                         B. ahead of

C. on behalf of
             D. in front of

Câu 32. He sat down, ____ his shoes, and tilted back to relax.                                                                                                            
A. pulled off                              B. took out

C. pulled up

D. took off


Câu 33. The disappearance of one or several species may result in the loss of ____.


A. biology                 B. biography              
C. biodiversity        
D. biochemistry


Câu 34. What university will you take an ____ examination into?


A. entrance 
B. attendance            C. entry                 D. admission


Câu 35. Mary cannot afford tuition ____ for studying abroad.                                                                                     
A. fine                         B. fee              
 C. finance                 D. Pension

Choose the correct part to complete the sentence.

Câu 36. “No Parking.”  _ This sign means____.

A. You are not allowed to park your car here.
B. There is no park here.



C. You can’t go to the park here.

D. There’s not enough space for parking here.                                                                                                                                                              
Câu 37. I wish I ____ the party last night so early.


A. hadn’t left              B. haven’t left

C. didn’t leave 
D. don’t leave  

Câu 38. It was raining, ____ we cancelled the trip to the beach.                                                                                                                               
A. although                B. so


C. but


D. because

Câu 39. “I regret ____ so much trouble.”   _ “Well. Let’s forget all about that.”


A. caused                    B. to cause

C. having caused
D. to have caused

Câu 40. They ____ great difficulty saving up enough money for a house.


A. found
B. incurred

C. achieved

D. had
                                                                  Câu 41. A: “Would you like to have dinner with me?”    B: “____”



A. Yes, it is.
B. Yes, I’d love to 
C. I’m very happy.
D. Yes, so do I.

Câu 42. A: "Would you mind opening the door?”        B: “____”


A. Not at all.                 B. Yes, certainly
C. Yes, of course.
D. No, thanks.

Câu 43. That science book ____ again and again.


A. is worth to read        B. is worthy reading
C. is worth reading
D. is worth being read


Câu 44. Minh and Cuong were badly injured in the last match, so ____ can play in this match.


A. both of them          
 B. neither of them
 C. none of them
D. either of them                                                                                                 

Câu 45. He wanted to know where____.


A. I had been               B. had I been            C. did I been          D. I been going

Choose the correct part to complete the sentence.                                                                                                                                                               
Câu 46. There is too much noise in the room. I can’t understand what ____.


A. is the teacher saying  B. is saying the teacher  C. the teacher is saying   D. does the teacher say

Câu 47. ____ are worthy of protection moved English Heritage historians into action against developers.


A. Some buildings in and around Fleet Street    
         B. To build in and around Fleet Street 


C. Some buildings that are in and around Fleet Street
D. That some buildings in and around Fleet Street

Câu 48. Michael’s score on the test is the highest in the class; ____.


A. he must had to study hard last night 
B. he must study hard last night


C. he should have studied hard last night
D. he must have studied hard last night

Câu 49. Not only____, but it also produces fuel for other fission reactors.


A. a nuclear breeder reactor that generate energy
   B. it is a nuclear breeder reactor generate energy



C. does a nuclear breeder reactor generate energy  D. is a nuclear breeder reactor generating energy

Câu 50. Countries may ____the World Bank for development projects.


A. lend large sums of money
B. borrow large sums of money 


C. lend large sums of money from
D. borrow large sums of money from 

Choose which sentence has the same meaning as the given one                                                   

Câu 51. I started to learn English 10 years ago. 


A. I started to learn English when I was 10.
B. I have started learning English for 10 years.                                         
C. I have been learning English for 10 years.
D. I have learnt English at the age of 10.

Câu 52. He now goes to work on his bicycle instead of by car.

A. He has now stopped driving to work and goes by bicycle.


B. He still goes to work by car but more often on his bicycle. 


C. Since he bought the car, he has never used the bicycle to go to work.


D. He has never gone to work in his car but always on his bicycle. 

Câu 53. The manager can force them to leave the apartment                                                                                                
A. They can leave the apartment because the manager is forced to. 


B. The manager can be forced to leave the apartment.



C. They can be forced to leave the apartment by the manager.


D. Both the manager and they were forced to leave the apartment.    

Câu 54. He talked about nothing except the weather.
A. He talked about everything including the weather.  B. His sole topic of conversation was the weather.    

C. He had nothing to say about the weather.                 D. He said that he had no interest in the weather.

Câu 55. If it hadn’t been so late, I would have called you.

A. It was late, so I did not call you.
B. It was not late when I called you.


C. It was late, but I called you. 
D. It was not late but I did not call you.

Choose the underlined part in each sentence that needs correcting

Câu 56. We all will die if there were no sunshine.

                      A       B               C                D    

Câu 57. It took  many hour of discussion to make a decision.

                   A.       B      C                               D 

Câu 58. The man who daughter is my friend is  a famous doctor.

                               A                  B                  C             D

Câu 59. Language is regarded the private property of any nation.

                   A                  B                              C                  D

Câu 60. Happy people find it easily to get to sleep and they sleep soundly.

                A                               B                   C                                   D

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the questions from 61 to 64.

In this era of increased global warming and diminishing fossil fuel supplies, we must begin to put a greater priority on harnessing alternative energy sources. Fortunately, there are a number of readily available, renewable resources that are both cost- effective and earth – friendly. Two such resources are solar power and geothermal power. Solar energy, which reaches the earth through sunlight, is so abundant that it could meet the needs of worldwide energy consumption 6,000 times over. And solar energy is easily harnessed through the use of photovoltaic cells that convert sunlight to electricity. In the US alone, more than 100, 000 homes are equipped with solar electric systems in the form of solar panels or solar roof tiles. And in other parts of the world, including many developing countries, the use of solar system is growing steadily.

Another alternative energy source, which is abundant in specific geographical areas, is geothermal power, which creates energy by tapping heat from below the surface of the earth. Hot water and steam that are trapped in underground pools are pumped to the surface and used to run a generator, which is produces electricity. Geothermal energy is 50,000 times more abundant than the entire known supply of fossil fuel resources. And as with solar power, the technology needed to utilize geothermal energy is fairly simple. A prime example of effective geothermal use is in Iceland, a region of high geothermal activity where over 80 percent of private homes are heated by geothermal power. Solar and geothermal energy are just two of promising renewable alternatives to conventional energy sources. The time is long overdue to invest in the development and use of alternative energy on global scale. 


Câu 61. What is the main topic of this passage ?

A. The benefits of solar and wind power over conventional energy sources.

B. How energy resources are tapped from nature.

C. Two types of alternative energy sources that should be further utilized.

D. Examples of the use of energy sources worldwide.

Câu 62.  According to the passage, why should we consider using alternative energy sources ?

A. Because fossil fuels are no longer available.

B. Because global warming has increased the amount of sunlight that reaches the earth.

C. Because they are free and available worldwide.

D. Because conventional energy resources are being depleted, and they cause environmental damage.

Câu 63.  According to the passage, what can be inferred about solar roof tiles?

A. They are being used in many undeveloped countries. C. They are more expensive than solar panels.

B. They can convert geothermal energy to electricity.      D. They contain photovoltaic cells.

Câu 64.  According to the passage, how is solar energy production similar to geothermal energy production ?

A. They both require the use of a generator.

B. They both use heat from the earth’s surface.

C. They both require fairly simple technology.

D. They are both conventional and costly
PHẦN TỰ LUẬN: (2 điểm)

I. Rewrite each of the following sentences in such a way that the original meaning is exactly the same as the provided one.

1. “ Why don’t you put better lock on the door, Barbara”? said John
  => John suggested..................................................................................................
2. Although his both legs were broken in the crash, he managed to get out of the car before it exploded.
  =>  Despite his........................................................................................................
3. I haven’t eaten this kind of food before.
   =>  This is the first............................................................................................
4. The architect has drawn plans for an extension to the house.
    =>  Plans...............................................................................................................
5. It isn’t necessary for you to finish by Saturday

    =>  You..................................................................................................................

II. TOPIC: Write a letter to pen-pal to talk about your family.

                                                                               ……………, September 26th, 2014

Dear Michael,

I am writing to talk about my family as requested in your last letter.


There are four members in my family; my parents, my elder brother and I. My dad is now at his forty-five and my mom is two years younger. My elder brother is twenty-two of age. My dad is a teacher at a local high school, and he has to work nearly weekdays. Very often he has extra classes on weekends, sometimes he has evening classes. My mom is a farmer and she has to work hard in the fields nearly daily from early morning till dark. My elder brother is now a final year university student, so he has very little time to be at home with other family members. Although my parents are very busy, they try hard to spare as much time to take care of their children as possible.


My mom is a really caring woman who is always the first to get up to prepare for other family members things to start a new day, and the last to go to bed to make sure that everything is under control. My dad is always willing to join hands to make us a nice house and a happy home. My brother and I love helping my parents in all sort of work whenever we have chance.


In my family, members care as much for others as possible to make a close-knit family. We are admired so much by the neighboring residents. Whenever problems come up, we discuss the matters all together frankly to find out solutions quickly. We also share all happiness and worries, so we all feel happy, safe and secure at home just as the saying we love “Home is where love dwells and thrives”.


As you know, I am now in my final secondary year, preparing for the coming examinations with so much pressure. Therefore, all members in my family encourage and give me the best to help me realize my dreams.


That is some about my family, and I would very much like to hear about yours in turn. I hope you will share with me your family life. I look forward to hearing from you soon.


Yours sincerely,

                      Lan 

------------------THE END-----------------

	
	ĐỀ KTCL ÔN THI THPT QUỐC GIA NĂM 2016

Môn: TIẾNG ANH 

Thời gian làm bài: 90 phút, không kể thời gian phát đề


PHẦN TRẮC NGHIỆM: (8 điểm)

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part is pronounced differently from that of the rest in each of the following questions.
Question 1: A. measles
   B. meant
    C. leader
       D. teacher

Question 2: A. needed
B. afforded
C. advanced
D. invented
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.
Question 3: A. favor
B. deny
C. decide
D. again
Question 4: A. information
B. calculation
C. energetic
D. investigate
Question 5: A. history
B. mathematics
C. literature
D. physics
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.
Question 6:   The majority of workers find it quite hard to live on the amount of the money they earn.

A. most of
B. entire
C. almost
D. all of
Question 7:   Paul always gets nervous whenever he has to give a presentation.

A. anxious
B. fearful
C. impressed
D. supportive
Question 8:   Tests are regularly conducted in this area to ascertain whether pollution levels have dropped.

A. contemplate
B. behold
C. determine
D. consider
Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is OPPOSITE in meaning to the underlined part in each of the following questions.
Question 9:   The dim lights made it hard to see, so Ben squinted to make out the stranger's face in the distance.

A. faint
B. muted
C. strong
D. weak
Question 10:   Henry hoped that his sons would someday take over his retail business and maintain the high level of customer service and satisfaction that Henry valued so much.

A. uphold
B. continue
C. eliminate
D. connect
Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction.

Question 11:   The rate of snow accumulation in the formation area are critical to the pace of glacial movement.
A. accumulation
B. are
C. to the
D. movement
Question 12:   More murders are reported in December in the United States than for any other month.

A. More
B. are reported
C. the
D. for
Question 13:   Although Emily Dickinson publishes only three of her verses before she died, today there are more than one thousand of her poems printed in many important collections.

A. publishes
B. there are
C. thousand of
D. in
Question 14:   Humans who lived thousands years ago, long before alphabets were devised, they used pictures to record events and to communicate ideas.

A. who
B. ago
C. they
D. to communicate
Question 15:   More companies returned to the task of development new kinds of antibiotics, and as this book is being prepared, a number are undergoing clinical trials.

A. to
B. development
C. kinds of
D. a
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 16:   The students don’t know how to do the exercise___________ by the teacher yesterday.

A. written
B. is writing
C. who written
D. which written
Question 17:   It’s only a small flat but it___________ my needs perfectly.

A. settles
B. meets
C. supplies
D. fills
Question 18:   A___________ of interest briefly crossed his face at the mention of her name.

A. flicker
B. trace
C. mark
D. hint
Question 19:   The teacher made up a difficult question, but at last, Tung___________ a good answer.

A. came up for
B. came up to
C. came up against
D. came up with
Question 20: ___________ disabled children cannot enjoy toys designed for nondisabled youngsters is the subject of the report.

A. What
B. Those
C. That
D. Because
Question 21:   You should have___________ your research paper again before you handed it in.

A. gone over
B. gone under
C. gone with
D. gone down with
Question 22:   Manh asked me___________ that film the night before.

A. that I saw
B. had I seen
C. if I had seen
D. if had I seen
Question 23:   We’ve got another set to___________ if this one doesn’t work.

A. fall back on
B. come out with
C. set out
D. go in for
Question 24:   I said that I had met her___________.

A. yesterday
B. the previous day
C. the day
D. the before day
Question 25:   When we arrived at the meeting place, the others___________. 

A. left
B. have left
C. had left
D. are leaving
Question 26:   She has been studying engineering___________. 

A. since 5 years
B. for 5 years
C. 5 years before
D. during 5 years
Question 27:   She told me___________.

A. shut the door but don’t lock it.
B. shut the door but not lock it.
C. to shut the door but not lock it.
D. to shut the door but not to lock it.
Question 28:   Alice: “What shall we do this weekend?”   Carol: “________________________”

A. I went out for dinner.
B. Oh, that’s good.
C. Let’s go out for dinner.
D. No problem.
Question 29:   Don’t be late for the class often, ___________ people will think you are a disobedient student.

A. unless
B. otherwise
C. if not
D. or so
Question 30:   If Bean___________ with us, he would have a good time.

A. would had come
B. came
C. would come
D. have come
Question 31:  - Khanh: “I’d like the blue jacket, pleases! Can I try it on?” 

                            - Tien: “Yes, _____________________.”

A. you would
B. you must
C. certainly
D. you do
Question 32:   ___________, he would have passed the exam.

A. were Manh studied
B. Had Manh studied harder
C. If Manh had not studied harder
D. If Manh studied harder
Question 33:   By the time you get back, I___________ all my correspondence and then I_________ you with yours.

A. will have finished/ can help
B. will finish/ can have helped
C. will be finished/ have helped
D. have finished/ have helped
Question 34: - Toan: “Thank you for the delicious meal” - Minh: “______________________.”

A. Never wonder

B. No problem


C. All right

D. I’m glad you enjoyed it
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.

One of the major problems in the art world is how to distinguish and promote an artist. In effect, a market must be created for an artist to become successful. The practice of signing and numbering individual prints was introduced by James Abbott McNeill Whistler, the nineteenth-century artist best known for the painting of his mother, called “Arrangement in Grey and Black,” but known to most of us as “Whistler’s Mother.” Whistler’s brother-in-law, Sir Francis Seymour Haden, a less well-known artist, had speculated that collectors might find prints more attractive if they knew that there were only a limited number of copies produced. By signing the work in pencil, an artist could guarantee and personalize each print.

As soon as Whistler and Haden began the practice of signing and numbering their prints, their work began to increase in value. When other artists noticed that the signed prints commanded higher prices, they began copying the procedure.

Although most prints are signed on the right-hand side in the margin below the image, the placement of the signature is a matter of personal choice. Indeed, prints have been signed within the image, in any of the margins, or even on the reverse side of the print. Whenever the artist elects to sign it, a signed print is still valued above an unsigned one, even in the same edition.
Question 35:   Which of the following would be a better title for the passage?

A. Whistler’s Mother
B. Whistler’s Greatest Works
C. The Practice of Signing Prints
D. Copying Limited Edition Prints
Question 36:   What made Whistler’s work more valuable?

A. His fame as an artist
B. His painting of his mother
C. His signature on the prints
D. His brother-in-law’s prints
Question 37:   The word “speculated” could be best replaced by_____________.

A. guessed
B. noticed
C. denied
D. announced
Question 38:   The word “distinguish” is closest in meaning to_____________.

A. recognize differences
B. making improvement
C. allow exceptions
D. accept changes
Question 39:   The word “it” refers to_____________.

A. the same edition
B. the image
C. the reverse side
D. a print
Question 40:   Where in the passage does the author indicate where an artist’s signature might be found on a work?

A. the second paragraph
B. the third paragraph
C. the first paragraph
D. no evidence
Question 41:   What does the author mean by the statement: “As soon as Whistler and Haden began the practice of signing and numbering their prints, their work began to increase in value.”?

A. The prints that were signed and numbered were worth more.
B. The signing and numbering of prints was not very popular.
C. The signatures became more valuable than the prints.
D. Many copies of the prints were made.
Question 42:   What was true about the painting of Whistler’s mother?

A. It was painted by Sir Francis Seymour Haden.


B. Its title was “Arrangement in Grey and Black.”
C. It was not one of Whistler’s best paintings.


D. It was a completely new method of painting.
Question 43:   The author mentions all of the following as reasons why a collector prefers a signed print EXCEPT_____________.

A. it guarantees the print’s authenticity
B. it makes the print more personal
C. it encourages higher prices for the print
D. it limits the number of copies of the print
Question 44:   It can be inferred from the passage that artists number their prints_____________.

A. as an accounting procedure
B. to guarantee a limited edition
C. when the buyer requests it
D. at the same place on each of the prints
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word.

English is spreading fast and it has been predicted that one in ten of the world’s 6000 languages will become (45)___________  over the next century. Even countries with millions of native language speakers are so worried by the growth of English that they have devised policies to fight back.

The French have (46)___________ regulations to deal with what they see as an American cultural invasion. Corporations and government bodies are not (47)___________ to use English terms where there are French (48)___________. And to ensure there are as many of these as possible, a Terminology Commission has been set up with the task of creating them. In order to protect local languages and culture, the European Union introduced a new set of laws, (49)___________ states that half of the TV programmes shown in member states must be European. New technology does not make things easy for (50)___________ languages. Today there is another medium to worry about: the Internet. English covers about 90 per cent of traffic and the World Wide Web will only accelerate its spread around the world. (51)___________ broadcasting, however, most communication on the Net is written, so it needn’t present the same threat to regional accents and dialects. It is also decentralized and more interactive than broadcasting, which may help to (52)___________ the disappearance of minority languages.

Even if English were universally (53)___________, this would not mean the end of diversity. English is not exactly the same the world over: you only have to compare American and British English to realize that. The Net, too, is an instrument of change. Because Net communication is mainly written, many people use abbreviations (54)___________ things up and this trend means the language is changing with Internet use. In 10 to 20 years from now the English on the Net may well be unrecognizable compared with the English we know now.

Question 45: A. extinct
B. ruined
C. vanished
D. devastated
Question 46: A. brought up
B. brought in
C. brought down
D. brought off
Question 47: A. advised
B. let
C. given
D. allowed
Question 48: A. correspondences
B. interactions
C. equivalents
D. same
Question 49: A. which
B. that
C. who
D. what
Question 50: A. other
B. another
C. the other
D. others
Question 51: A. Likely
B. Alike
C. Unlike
D. Unlikely
Question 52: A. decrease
B. ban
C. prohibit
D. prevent
Question 53: A. adapted
B. adopted
C. modified
D. changed
Question 54: A. look
B. break
C. take
D. speed
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.

Mayo Clinic in Rochester, Minnesota, where staff physicians practice a special integrated approach to patient care, is one of the largest medical facilities in the world. The clinic staff consists of a 12-member, committee-based board of governors and 900 physicians and medical personnel whose records are updated by approximately 200 auxiliary personnel. About 800 resident doctors assist the full time physicians as a phase of their training in medicine and surgery while they acquire their specializations. The Mayo approach to treatment has been hailed for its almost miraculous patient recovery rate.

William Worral Mayo was born in Manchester, England, immigrated to the United States in 1845, and immediately began his medical training. In 1860, he took an active part in organizing the Minnesota Territory and accepted the position of an Army surgeon during a Sioux Indian outbreak. This appointment became a stepping stone for his advancement to the post of provost surgeon for the southern portion of the state in 1863. His personal dedication and courage became legendary when a cyclone struck Rochester, and he was placed in charge of an emergency hospital.

William Worral Mayo provided crucial assistance to his sons in launching their team practice in 1889, while they were holding positions at St. Mary’s Hospital. William James became recognized for his surgical skill in gallstone, cancer, and abdominal operations. He and his brother, Charles Horace, founded the Mayo Graduate School of Medicine and donated $1.5 million to establish the foundation for contributions. Charles William, the son of Charles Horace Mayo, became a member of the board of governors at the Mayo Graduate School and an alternate delegate to the United Nations General Assembly before retiring from the clinic in 1963.

William James Mayo presided in the American Medical Association and served in Army military corps as a brigadier general in the medical reserve. Charles Horace was a professor of surgery and a health officer of Rochester subsequent to serving in the armed forces between 1914 and 1918. The Mayo practice became known far and wide for its success in surgical procedures. In 1914, the practice moved into its own medical center, and today the number of patients equals approximately 280,000 per annum. Since the clinic opened in 1907, 4.5 million patients have been treated.

Question 55:   What is best title for the passage?

A. A welcome to the Mayo Clinic
B. Brilliant American Surgeon
C. The Contribution of the Mayo Family
D. The Start of a Successful Practice.
Question 56:   The word “integrated” is closest in meaning to_____________.

A. unified
B. goal-oriented
C. ready-made
D. unique
Question 57:   What can be inferred from the first paragraph?

A. Rochester, Minnesota is a city with large population.
B. The Mayo Clinic employees have set many medical records.
C. They Mayo Clinic is a large specialized teaching hospital.
D. The clinic’s physicians represent many medical specializations.
Question 58:   According to the passage, William Worral Mayo was involved in caring for the patients affected by_____________.

A. an outbreak of an epidemic
B. a spread of disease among Indians
C. a devastating natural disaster
D. a brief military confrontation
Question 59:   The word “dedication” is closest in meaning to_____________.

A. dejection
B. devotion
C. deliberation
D. delectation
Question 60:   According to the passage, who were the first physicians in the clinic?

A. William Worral Mayo and Charles Horace Mayo


B. William James Mayo and Charles Horace Mayo
C. William Worral Mayo and William James Mayo    

D. William James Mayo and Charles William Mayo
Question 61:   The word “founded” is closest in meaning to_____________.

A. found
B. established
C. fortified
D. articulated
Question 62:   The word “contributions” is closest in meaning to_____________.

A. contractions
B. conventions
C. gifts
D. prizes
Question 63:   In addition to their medical expertise, what common characteristics distinguished the careers of the Mayo brothers?

A. Funding of schools in Minnesota
B. Positions on the board of directors
C. Military and political service
D. Donations for poor patients
Question 64:   The phrase “subsequent to” is closest in meaning to_____________.

A. because
B. regardless of
C. after
D. contrary to
PHẦN TỰ LUẬN (2 điểm)

Part I. Rewrite each of the following sentences in such a way that the original meaning is 

exactly the same as the provided one.

1. I think you should tell the police about the accident.

→ If I …………………………………………………………

2. “I’m sorry that I broke the glass,” Vinh said to Hien. 

→ Vinh apologized………………………………………….

3. We started cooking for the party four hours ago. 

→ We have……………………………………………………..

4. They were so excited that they couldn’t sit still.

→ Such …………………………………………………………
5. The house seemed to have been unoccupied for several years. 

→ It looked……………………………………………………..

Key for part I

1. → If I were you, I would tell the police about the accident.

2. → Vinh apologized to Hien for breaking/ having broken the glass.

3. → We have been cooking for the party for four hours.

4. → Such was their excitement that they began to jump up and down.
5. → It looked as if the house had been unoccupied for several years.

Part II. In about 140 words, write a paragraph about the kind of job you would like to do after 

you finish your education. 

The following prompts might be helpful to you. 

- Kind of job

- Working condition 

- Your expectation in the job.

----------- HẾT ----------
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Mark the letter A, B, C or D to indicate the word whose underlined part is pronounced differently from the others

Question 1. 
A: practised

B: wasted

C: attacked

D: looked
Question 2. 
A: contain

B: feature

C: picture

D: culture

Mark the letter A, B, C or D to indicate the word that differs from the rest in the position of the main stress in each of the following questions.
Question 3. 
A: overwhelming
B: intellectual

C: incredible

D : optimistic
Question 4. 
A: incidence

B: tendency

C: difference

D: importance

Question 5. 
A: bamboo

B: cactus

C: camel

D: hummock

Mark the letter A, B, C or D to indicate the word whose underlined part is pronounced differently from the others

Question 6. Chaplin was a comedian __________ was best known for his work in silent movies.

A: who


B: which


C: whose

D: what

Question 7. I’m terrified __________ breaking down on a motorway at night.
A: from

B: with



C: for


D: of
Question 8. The pop star __________ when the lights __________.
A: was singing/went out



B: sang/were going out

C: was singing/were going out


D: sang/went out

Question 9. __________ to the school is by examination only.
A: admission

B: admissions


C: admit

D: admitted

Question 10. Scandinavia consists of four countries. One is Denmark, __________ are Finland, Norway and Sweden.
A: others

B: the other


C: the others

D: other

Question 11. I wish you __________ complaining about the weather.

A: would stop

B: stop



C: stopped

D: had stopped

Question 12. She got up early; otherwise she __________ her bus.

A: would miss

B: would have missed

C: had missed

D: missed

Question 13. There is nobody in __________ in this apartment for two years.
A: seeing

B: glance


C: glimpse

D: sight

Question 14. __________ he tried, his father didn’t let him run the company.
A: Although hard
B: No matter what

C: However hard
D: Whatever hard

Question 15. When I came to his house, I didn’t see him. He __________ .
A: can be away




B: may be out




C: might have been away



D: must be absent
Question 16. To our surprise, the so-called cheap shop was __________ was expected.
A: as twice as expensive



B: expensive as twice as

C: twice as expensive as



D: as expensive as twice

Question 17. We bought some __________.
A: old lovely German glasses



B: German old lovely glasses

C: German lovely old glasses



D: lovely old German glasses

Question 18. “Congratulations on your new home! It’s wonderful” 
                      “__________”
A: Thank you





B: You’re welcome

D: Really





C: It’s OK

Question 19. As well as __________ in an office he used to have a part-time as a waiter.
A: having worked

B: working

C: to have worked
D: to work

Question 20. __________ will China be the first to use nuclear weapons.
A: At any time


B: At no time

C: At a time

D: At one time
Question 21. “I'd like to change some money.” 
“__________”
A: Five tens, please




B: What's your account number?

C: Which currency?




D: You haven't signed it.

Question 22. She was __________ disappointed when she learned that she was turned down for the post.
A: gravely


B: bitterly

C: highly

D: fully

Question 23. I was just about __________ the office when the telephone rang.
A: to have left


B: leave

D: to leave

C: leaving

Question 24. “Thank you for your lovely dinner. You are an excellent cook.” 
“ __________”
A: I’m glad you like it. You must come again.

B: No, thanks. I’ll have to try more.

C: No. I’m not. My sister cooks better than me.

D: Yes, right. I often cook in my family.

Mark the letter A, B, C, or D to indicate the word or phrase that is closest in meaning to the underlined part in each of the following questions.

Question 25. Joggers who begin running without warming up could sustain a muscle injury.

A: invite


B: suffer

C: irritate

D: anticipate

Question 26. American Indian cultures differ markedly from one another in language and in life-style.
A: by degrees


B: historically

C: regionally

D: significantly

Question 27. The province of British Columbia offers visitors breathtaking views of the Canadian Rocky Mountains.
A: stunning


B: intimate

C: distant

D: high altitude

Question  28:  In the early days of baseball,  the game was played by young men  of means  and social 

position.

A. with ambition  

B. with money  
C. with skill  

D. with equipment

Question 29: Though many scientific breakthroughs have resulted from  mishaps,  it has taken brilliant thinkers to recognize their potential.

A. misunderstandings  
B. accidents  

C. misfortunes  
D. incidentals

Mark the letter A, B, C,or D to show the underlined part that needs correction.

Question 30: Whether life in the countryside is better than that in the city depend on each 



    A





B

       C

individual’s point of view.

                             D

Question 31: There are many different ways of comparing the economy of one nation 


     A




B

with those of another.


C
D

Question 32: Mining over 2,000 years ago , copper is one of the earliest known metals.


A


     B


   C

D

Question 33: It is important that cancer is diagnosed and treated as early as possible in order to 





     A       B                                     C                                

assure a successful cure.

D

Question 34: The cars in garage were badly in need of to be repaired .



        A        B                C                                 D

Read the following passage and mark the letter A, B, C, or D to indicate the correct word for each of the blanks. 

Every ten minutes, one kind of animal, plant or insect dies (1) ________ for ever. If nothing is done about it, one million species that are alive today will have become (2) ________ twenty years from now. 

The seas are in (3) ________. They are being filled with poison: industrial and nuclear (4) ________, chemical fertilizers and pesticides, sewage. The Mediterranean is already nearly dead: the North Sea is following. If nothing is done about it, one day soon nothing will be able to live in the seas. 

The tropical rain forests, which are the (5) ________ of half the earth’s living things (including many rare animals and plants), are being destroyed. If nothing is done about it, they will have disappeared in twenty years. The (6) ________ on the world’s climate – and on our agriculture and food supplies – will be disastrous. 

Fortunately, somebody is trying to do something about it. In 1961, the World Wildlife Fund was (7) ________ – a small group of people who wanted to raise money to save animals and plants from extinction. 

Today, the World Wildlife Fund is a large international organization. It has raised over $35 million for conservation projects, and has created or given (8) ________ to National Parks in five continents. It has helped 30 mammals and birds – including the tiger – to (9) ________. Perhaps this is not much, but it is a start. If more people give more money – and if more governments wake up to what is happening – perhaps the World Wildlife Fund will be able to help us to avoid the disaster that (10) ________ the natural world, and all of us will be with it. 

Question 35: 
A. off


B. over


C. all


D. out

Question 36: 
A: extinct

B: invalid

C: distinct

D: extinguish

Question 37. 
A: danger

B: death

C: despair

D: debt

Question 38.
A: waste

B: essence

C: mixture

D: rubbish

Question 39.
A: home

B: origin

C: container

D: house
Question 40.
A: result

B: motivation

C: impression

D: effect

Question 41. 
A: fixed

B: funded

C: found

D: founded

Question 42. 
A: defence

B: support

C: rescue

D: preservation

Question 43. 
A: survive

B: endure

C: prolong

D: continue

Question 44. 
A: occurs

B: pollutes

C: suffers

D: threatens

Read the following passage and mark the letter A, B, C, or D to indicate the correct answer to each of the questions. 

Swine influenza (also called swine flu, hog flu and pig flu) is an infection of a host animal by any one of several specific types of microscopic organisms called “swine influenza virus”. A swine influenza virus (SIV) is any strain of the influenza family of viruses that is usually hosted by (is endemic in) pigs. As of 2009, the known SIV strains are the influenza C virus and the subtypes of the influenza A virus known as H1N1, H1N2, H3N1, H3N2 and H2N3. Swine influenza is common in pigs in the mid-western United States (and occasionally in other states), Mexico, Canada, South America, Europe (including the UK, Sweden and Italy), Kenya, Mainland China, Taiwan, Japan and other parts of eastern Asia. 

Transmission of swine influenza virus from pigs to humans is not common and does not always cause human influenza, often only resulting in the production of antibodies in the blood. The meat of the animal poses no risk of transmitting the virus when properly cooked. If transmission does cause human influenza, it is called zoonotic swine flu. People who work with pigs, especially people with intense exposures, are at increased risk of catching swine flu. In the mid-20th century, identification of influenza subtypes became possible, this allows accurate diagnosis of transmission to humans. Since then, fifty confirmed transmissions have been recorded, rarely, these strains of swine flu can pass from human to human. In humans, the symptoms of swine flu are similar to those of influenza and of influenza-like illness in general, namely chills, fever, sore throat, muscle pains, severe headache, coughing, weakness and general discomfort. 

The 2009 flu outbreak in humans, known as “swine flu’, is due to a new strain of influenza A virus subtype H1N1 that contains genes closely related to swine influenza. The origin of this new strain is unknown. However, the World Organization for Animal Health (OIE) reports that this strain has not been isolated in pigs. This strain can be transmitted from human to human, and causes the normal symptoms of influenza.

Question 45. What is the main topic of the passage?
A: How swine influenza virus is transmitted to humans

B: Areas of the world which are affected by swine flu

C: The 2009 flu outbreak

D: The characteristics of swine flu

Question 46. A swine influenza virus is ________.

A: of influenza A virus only



B: always hosted by pigs

C: a strain of the flu family of viruses

D: hosted by a microscopic organism

Question 47. Where is the swine influenza not common?
A: France

B: Mexico

C: South America

D: Eastern Asia

Question 48. Which statement is NOT supported by the passage?
A: Swine influenza is not commonly transmitted from pigs to humans.

B: When properly cooked, pork cannot transmit the swine influenza virus

C: Any person who works with pigs can catch swine influenza

D: Transmission of swine influenza virus can produce antibodies in the blood.
Question 49. What is the purpose of the author?
A: to criticize

B: to alarm

C: to inform


D: to confirm

Question 50. What does the word “poses” mean?
A: transmits

B: causes

C: prevents


D: takes

Question 51. What can be concluded from the passage?
A: Now we can have more accurate diagnosis of flu transmission to humans.

B: Zoonotic swine flu is transmitted from pigs to pigs.

C: Swine flu symptoms are different from other kinds of influenzas.

D: Those who have swine flu have only fever, sore throat and coughing.
Question 52. What is NOT true about the 2009 flu outbreak?
A: It is definitely caused by pigs

B: It is caused by influenza A virus type A

C: It is often known as “swine flu”

D: It can be transmitted from humans to humans
Question 53. The word “strain” can be replaced by ________.
A: group

B: variant

C: characteristic

D: breed

Question 54. The word “intense” is closest in meaning to ________.
A: considerable
B: increased

C: extreme


D: regular

Read the following passage and mark the letter A, B, C, or D to indicate the correct answer to each of the questions. 

A survey is a study, generally in the form of an interview or a questionnaire that provides information concerning how people think and act. In the United States, the best-known surveys are the Gallup poll and the Harris poll. As anyone who watches the news during campaigns presidential knows, these polls have become an important part of political life in the United States. 

North Americans are familiar with the many “person on the street” interviews on local television news shows. While such interviews can be highly entertaining, they are not necessarily an accurate indication of public opinion. First, they reflect the opinions of only those people who appear at a certain location. Thus, such examples can be biased in favor of commuters, middle-class shoppers, or factory workers, depending on which area the news people select. Second, television interviews tend to attract outgoing people who are willing to appear on the air, while they frighten away others who may feel intimidated by a camera. A survey must be based on a precise, representative sampling if it is to genuinely reflect a broad range of the population. 

In preparing to conduct a survey, sociologists must exercise great care in the wording of questions. An effective survey question must be simple and clear enough for people to understand it. It must also be specific enough so that there are no problems in interpreting the results. Even questions that are less structured must be carefully phrased in order to elicit the type of information desired. Surveys can be indispensable sources of information, but only if the sampling is done properly and the questions are worded accurately. 

There are two main forms of surveys: the interview and the questionnaire. Each of these forms of survey research has its advantages. An interviewer can obtain a high response rate because people find it more difficult to turn down a personal request for an interview than to throw away a written questionnaire. In addition, an interviewer can go beyond written questions and probe for a subject’s underlying feelings and reasons. However, questionnaires have the advantage of being cheaper and more consistent. 
Question 55. The writer of this passage is trying to ________.
A: emphasize the importance of polls in American political life

B: explain the principles of carrying out surveys

C: discuss the good and bad of the interview and the questionnaire

D: explain what surveys are

Question 56. In paragraph 2, “they” refers to ________.
A: opinions

B: news shows
C: outgoing people

D: TV interviews

Question 57. According to the passage, one disadvantage of person-on-the-street interviews is that they ________.
A: are not carefully worded

B: are not based on a representative sampling

C: reflect political opinions

D: are used only on television

Question 58. The word “intimidated” in paragraph 2 means
A: Shy


B: confident


C: rational

D: frightened

Question 59. According to paragraph 3, two important things for an effective survey are ________.
A: Properly done samplings and carefully worded questions

B: Specific questions and an interviewer’s ability to measure respondents’ feelings

C: Simple questions and a high number of respondents

D: Understandable questions and a sociogist who is able to interpret the results

Question 60. As can be inferred from the passage, sociologists can be frustrated when ________.
A: questionnaires are too difficult to read

B: respondents are too eager to supplement questions with their own opinions

C: respondents often do not complete and return questionnaires

D: questionnaire are too expensive and difficult to distribute

Question 61. It can be inferred from the passage that ________.
A: live interviews minimize the influence of the researcher

B: live interviews are easier to interpret

C: live interviews are better than questionnaires

D: both questionnaires and live interviews have their own advantages and disadvantages

Question 62. The word “probe” in paragraph4 is closest in meaning to __________.
A: apply


B: influence

C: analyze


D: explore

Question 63. All of the following terms are NOT defined in the passage EXCEPT __________.
A: public opinion

B: survey


C: response rate

D: representative sampling

Question 64. All of the following are listed as advantage of questionnaires EXCEPT __________.

A: information-providing

B: time-saving

C: cost-saving



D: consistency

WRITING

PART I: Finish each of the following sentences in such a way that it means the same as the sentence printed before it.

1.The film star wore dark glasses so that no one would recognize him. 

(The film star avoided …………………………………………………………………………………….
2. I am amazed by the mistakes he makes. 

(What ……………………………………………………………………………………………………….
3. We weren’t surprised by his success. 

( It came ……………………………………………………………………………………………………
4. “That’s a lovely new dress, Jean” said her mother. 

( Jean’s mother complimented ……………………………………………………………………………
5. We couldn’t relax until all the guests had gone home. 

( Only ………………………………………………………………………………………………………
PART II: TOPIC: Write a letter of request to UCAS to ask for information about the admission requirements to the university.

…………………………………………………………………………………………………………….

…………………………………………………………………………………………………………….

…………………………………………………………………………………………………………….

…………………………………………………………………………………………………………….

…………………………………………………………………………………………………………….

…………………………………………………………………………………………………………….

…………………………………………………………………………………………………………….

…………………………………………………………………………………………………………….

…………………………………………………………………………………………………………….

…………………………………………………………………………………………………………….

…………………………………………………………………………………………………………….

…………………………………………………………………………………………………………….

…………………………………………………………………………………………………………….

…………………………………………………………………………………………………………….

…………………………………………………………………………………………………………….

…………………………………………………………………………………………………………….

…………………………………………………………………………………………………………….

---- The end ----
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Mark the letter A, B, C or D to indicate the word whose underlined part is pronounced differently from the others

Question 1. 
A: practised

B: wasted

C: attacked

D: looked
Đáp án : wasted /weɪtɪd/ Có phần gạch chân được phát âm là /ɪd/. Các phương án còn lại có phần gạch chân được phát âm là /t/. 
attacked /ə’tækt/ 


looked /lʊkt/ 

practised /’præktɪst/ 
Question 2. 
A: contain

B: feature

C: picture

D: culture
Đáp án: contain/kən’teɪn/ Có phần gạch chân được phát âm là /t/. Các phương án còn lại có phần gạch chân được phát âm là /tʃ /. 
culture/’kʌltʃə/ 


feature/’fi:tʃə/ 
picture/’pɪktʃə/ 

Mark the letter A, B, C or D to indicate the word that differs from the rest in the position of the main stress in each of the following questions.
Question 3. 
A: overwhelming
B: intellectual

C: incredible

D : optimistic

Đáp án : incredible/ɪn’kredəbl/ Trọng âm chính rơi vào âm tiết thứ hai. Các phương án còn lại rơi vào âm tiết thứ ba. 
optimistic/,ɒptɪ’mɪstɪk/ 

overwhelming/, əʊvə’welmɪŋ/ 
intellectual/,ɪntə’lektʃʊəl/ 
Question 4. 
A: incidence

B: tendency

C: difference

D: importance

Key: D 
A: ‘incidence

B: ‘tendency

C: ‘difference

D: im’portance

Question 5. 
A: bamboo

B: cactus

C: camel

D: hummock

Đáp án : bamboo/,bæm’bu:/ Trọng âm chính rơi vào âm tiết thứ hai. Các phương án còn lại rơi vào âm tiết thứ nhất. 
cactus/’kæktəs/ 


camel/’kæml/ 

hummock/’hʌmək/ 


Mark the letter A, B, C or D to indicate the word whose underlined part is pronounced differently from the others

Question 6. Chaplin was a comedian __________ was best known for his work in silent movies.

A: who



B: which

C: whose

D: what

Đáp án : who 
Ở vị trí cần điền cần 1 đại từ quan hệ chỉ người đóng vai trò là chủ ngữ trong mệnh đề quan hệ. 
Nghĩa của câu: Chaplin là một danh hài nổi tiếng với các tác phẩm kịch câm. 
Question 7. I’m terrified __________ breaking down on a motorway at night.
A: from


B: with


C: for


D: of

Đáp án: terrified of: sợ hãi. 
Nghĩa của câu: Tôi sợ xe chết máy trên đường cao tốc vào giữa đêm. 
Question 8. The pop star __________ when the lights __________.
A: was singing/went out



B: sang/were going out

C: was singing/were going out


D: sang/went out

Đáp án: was singing/went out 
Câu được cho diễn tả 2 hành động xảy ra trong quá khứ. Hành động đang xảy ra (was singing):dùng thì quá khứ tiếp diễn, thì 1 hành động khác cắt ngang (went out): dùng thì quá khứ đơn. 
Nghĩa của câu: Ngôi sao nhạc pop đang hát thì đèn tắt. 
Question 9. __________ to the school is by examination only.
A: admission

B: admissions


C: admit

D: admitted

Đáp án : admission to: việc được nhận vào. 
Nghĩa của câu: Việc được vào học ở trường phải thông qua thi cử. 
Question 10. Scandinavia consists of four countries. One is Denmark, __________ are Finland, Norway and Sweden.
A: others

B: the other


C: the others

D: other

Đáp án : the others 
Others: những cái khác chưa xác định. The others: những cái khác đã xác định. Cả hai đều được sử dụng như 1 danh từ. 
Ở vị trí cần điền cần 1 danh từ số nhiều đóng vai trò là chủ ngữ nên các phương án ‘the other’ và ‘ other’loại. Ở đây ta chọn phương án ‘the others’ vì 4 nước đã được xác định ở câu thứ nhất. 
Nghĩa của câu: Scandinavi bao gồm 4 quốc gia. Một là Đan Mạch, những nước còn lại là Phần Lan, Na Uy và Thụy Điển. 

..................

..................

WRITING

PART I: Finish each of the following sentences in such a way that it means the same as the sentence printed before it.

1.The film star wore dark glasses so that no one would recognize him. 

(The film star avoided recognition/being recognized by wearing dark glasses
2. I am amazed by the mistakes he makes. 

(What amazes me is/are the mistakes he makes.
3. We weren’t surprised by his success. 

( It came as no surprise to us (to hear) (that) he was/had been successful.
4. “That’s a lovely new dress, Jean” said her mother. 

( Jean’s mother complimented Jean on her lovely new dress.
5. We couldn’t relax until all the guests had gone home. 

( Only after/when all the guests had gone home/could we relax/were we able to relax.
PART II: TOPIC: Write a letter of request to UCAS to ask for information about the admission requirements to the university.

475/57 Le Thanh Ton St. District 1

Ho Chi Minh City

July 15th, 2015

Dear Sir/Madam,

I’ve read a lot about tertiary study in the UK and very impressed by the reputation of many famous universities there. I am writing now to apply for the course and to ask for the admission requirements to the university.

Now, I am in the last year of the high school and will finish secondary education in 3 months. I am very much interested in an undergraduate course in economics in Bermingham University. At school I have learnt English for 7 years now, and my English is good enough to communicate with English speaking residents. Moreover, I am rather good at natural science subjects, and I am also very much interested in social activities. My family income is absolutely good enough to pay for my life and study abroad, too. I have good health and am willing ti live on my own. What my family and I want to know now is the detailed admission requirements to the university and the degrees I will be granted after finishing the course. Could you please send me some information about the admission requirements, tuitions fees, accommodation and details of the course? I am ready to supply any information about myself if necessary.

I look forward to hearing from you soon.

Yours faithfully,

Nguyen Van Nam.

	SỞ GD&ĐT ……….

TRƯỜNG THPT ………….

(Đề thi gồm có 06 trang) 
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Họ và tên thí sinh:……….……….….………………………………………; Số báo danh:……………

Section A (8 points)

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.
Câu 1: 
A. cartoon
B. answer
C. open
D. paper

Câu 2: 
A. diseases
B. important
C. community
D. organize

Câu 3: 
A. appropriate
B. secretary
C. accuracy
D. ambulance

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer

The history of clinical nutrition, or the study of the relationship between health and how the body takes in and utilizes food substances, can be divided into four distinct eras: the first began in the nineteenth century and extended into the early twentieth century when it was recognized for the first time that food contained constituents that were essential for human function and that different foods provided different amounts of these essential agents. Near the end of this era, research studies demonstrated that rapid weight loss was associated with nitrogen imbalance and could only be rectified by providing adequate dietary protein associated with certain foods.  

The second era was initiated in the early decades of the twentieth century and might be called "the vitamin period." Vitamins came to be recognized in foods, and    deficiency syndromes were described. As vitamins became recognized as essential   food constituents necessary for health, it became tempting to suggest that every disease and condition for which there had been no previous effective treatment might be responsive to vitamin therapy. At that point in time, medical schools started to become more interested in having their curricula integrate nutritional concepts into   the basic sciences. Much of the focus of this education was on the recognition of vitamin deficiency symptoms. Herein lay the beginning of what ultimately turned from    ignorance to denial of the value of nutritional therapies in medicine. Reckless claims were made for effects of vitamins that went far beyond what could actually be achieved from the use of them.  

In the third era of nutritional history in the early 1950's to mid-1960's, vitamin therapy began to fall into disrepute. Concomitant with this, nutrition education in medical schools also became less popular. It was just a decade before this that many drug companies had found their vitamin sales skyrocketing and were quick to supply  practicing physicians with generous samples of vitamins and literature extolling the virtue of supplementation for a variety of health-related conditions. Expectations as to the success of vitamins in disease control were exaggerated. As is known in retrospect, vitamin and mineral therapies are much less effective when applied to health-crisis conditions than when applied to long-term problems of under nutrition that lead to chronic health problems.

Câu 4:  What does the passage mainly discuss?

A. The effects of vitamins on the human body

B. The history of food preferences from the nineteenth century to the present

C. The stages of development of clinical nutrition as a field of study

D. Nutritional practices of the nineteenth century

Câu 5:     It can be inferred from the passage that which of the following discoveries was made during the first era in the history of nutrition?

A. Vitamins were synthesized from foods.

B. Effective techniques of weight loss were determined.

C. Protein was recognized as an essential component of diet.

D. Certain foods were found to be harmful to good health.

Câu 6:     The word "tempting" is closest in meaning to _____________.

A. attractive
B. necessary
C. correct
D. realistic

Câu 7:     It can be inferred from the passage that medical schools began to teach concepts of nutrition in order to  ____________.

A. encourage medical doctors to apply concepts of nutrition in the treatment of disease

B. support the creation of artificial vitamins

C. convince medical doctors to participate in research studies on nutrition

D. convince doctors to conduct experimental vitamin therapies on their patients

Câu 8:     The word "Reckless" is closest in meaning to ___________.

A. informative
B. recorded
C. urgent
D. irresponsible

Câu 9:   The word “them" refers to ______________.

A. effects
B. therapies
C. claims
D. vitamins

Câu 10:     Why did vitamin therapy begin losing favor in the 1950’s?

A. Claims for the effectiveness of vitamin therapy were seen to be exaggerated.

B. The public lost interest in vitamins.

C. Nutritional research was of poor quality

D. Medical schools stopped teaching nutritional concepts.

Câu 11:   The phrase "concomitant with"  is closest in meaning to ______________.

A. in dispute with
B. in conjunction with
C. prior to
D. in regard to

Câu 12:   The word "skyrocketing" is closest in meaning to ______________.

A. increasing rapidly
B. internationally popular

C. acceptable
D. surprising

Câu 13:   The paragraph following the passage most probably discusses ___________.

A. problems associated with undernutrition
B. the fourth era of nutrition history

C. why nutrition education lost its appeal
D. how drug companies became successful

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions 
Câu 14:   Thomas Edison ________ many new appliances using electricity during his long career.

A. was invented
B. invented
C. who invented
D. inventing

Câu 15:   I haven’t seen Manh ………………..Christmas.

A. from
B. since
C. for
D. during

Câu 16:   Mary, ………………knew nothing about the mountain, thought it would be safe to climb alone.

A. whose
B. whom
C. that
D. who

Câu 17:    People ................. outlook on life is optimistic are usually happy people.

A. whose
B. which
C. that
D. whom

Câu 18:    Fax machine...................send or receive letter quickly.

A. is used to
B. is used for
C. used to
D. used for

Câu 19:     A number of political prisoners................since Independent Day.

A. have released
B. was released
C. released
D. have been released

Câu 20:     He did finally come with us, although it took a long time to..........him.

A. persuade
B. take
C. believe
D. permit

Câu 21:     Joe, who is one of my elder sister's sons, is my favorite
.

A. grandson
B. uncle
C. niece
D. nephew

Câu 22:     Dalat city is a popular........................for art lovers.

A. visitation
B. department
C. destination
D. arrival

Câu 23:     ……………..did it take you to get used to wearing glasses?

A. How far
B. How often
C. How much
D. How long

Câu 24:     __________ lay its eggs in the sand on the beach than it goes back to the sea.

A. No sooner a turtle does
B. No sooner does a turtle

C. Does no sooner a turtle
D. A turtle does no sooner

Câu 25:     I didn't set _________ to start an argument, it just happened.

A. off
B. up
C. out
D. about

Câu 26:    Please _______your cigarette. I am going to get choked.

A. put out
B. put aside
C. blowout
D. cut down

Câu 27:     Is there anyone who  _______ the plan put forward by the committee?

A. objects
B. differs
C. disagrees
D. opposes

Câu 28:     Thinh: “How lovely your pets are!” – Tuan:  “____________”.

A. I love them, too
B. Really? They are

C. Can you say that again
D. Thank you, it’s nice of you to say so

Câu 29:     Jogging every day will_______ you good.

A. do
B. keep
C. help
D. make

Câu 30:    But for their help, he _________.

A. wouldn’t have failed
B. has not failed
C. has failed
D. would have failed
Câu 31:    Tom." Would you like something else?" - Bean: “__________________."

A. Yes, I like everything
B. Two, please.

C. That's all. Thank you
D. No, I wouldn't.

Câu 32:    Most of the computers in the laboratory are _________now.

A. out of function
B. out of work
C. out of order
D. out of working

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word.

In the last 100 years, technology has completely ……[<1>]…....the way we live. At the touch of a button, we can look up almost ……[<2>]…....we need to know on the Internet. We have electricity, aero planes, television, and we have ever been to the moon. So what sort of ……[<3>]…....will there be in the 21st century? Indeed, is there anything important still left to invent? It seems that there is, scientists all over the world are looking into nanotechnology with a ……[<4>]…....of interest. This is the science of building small machines – and when we say small, we mean very small. To give you an idea of the size scientists are ……[<5>]…....about, these machines would be about a million billion times smaller than the smallest bit of dust. Nanotechnology will ……[<6>]…....enormous changes. Doctors, for example, will be able to cure any ……[<7>]…....The environment will be improved because it will be possible to take the polluted air we breathe and ……[<8>]…....it clean again. But perhaps the most exciting thought of all is ……[<9>]…....we won’t have to wait a thousand years for nanotechnology – many people believe there is a good chance it will ……[<10>]…....our lifetime.

Câu 33: 
A. changed
B. made
C. done
D. gone

Câu 34: A. something
B. nothing
C. anything
D. nonething

Câu 35: 
A. invented
B. inventions
C. inventing
D. inventors

Câu 36: 
A. plenty of
B. great deal
C. amount of
D. number of

Câu 37: 
A. mentioning
B. speaking
C. talking
D. saying

Câu 38: 
A. bring about
B. set out
C. take off
D. run out

Câu 39: 
A. disorder
B. illness
C. problem
D. trouble

Câu 40: 
A. make
B. find
C. bring
D. become

Câu 41: 
A. which
B. what
C. that
D. where

Câu 42: 
A. get out
B. do up
C. come in
D. set off

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part is pronounced differently from that of the rest in each of the following questions
Câu 43: 
A. although
B. thank
C. these
D. without

Câu 44: 
A. tool
B. good
C. tooth
D. food

Mark the letter A, B, C or D on your answer sheet to indicate the word or phrase that is OPPOSITE in meaning to the underlined part in each of the following questions 
Câu 45:   It was apparent from her face that she was really upset.
A. obvious
B. indistinct
C. transparent
D. evident

Câu 46:   My cousin tends to look on the bright side in any circumstance.

A. be optimistic
B. be pessimistic
C. be confident
D. be smart

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer .

An air pollution is defined as a compound added directly or indirectly by humans to the atmosphere in such quantities as to affect humans, animals, vegetation, or materials adversely. Air pollution requires a very flexible definition that permits continuous changes. When the first air pollution laws were established in England in the fourteenth century, air pollutants were limited to compounds that could be seen or smelled- a far cry from the extensive list of harmful substances known today. As technology has developed and knowledge of health aspects of various chemicals has increased, the list of air pollutants has lengthened. In the future, even water vapor might be considered an air pollutant under certain conditions.

Many of more important air pollutants, such as sulfur oxides, carbon monoxides and nitrogen oxides are found in nature. As the Earth developed, the concentration of these pollutants was altered by various chemical reactions; they became components in biogeochemical cycles. These serve as an air purification scheme by allowing the compounds to move from the air to the water or soil. On a global basis, nature's output of these compounds dwarfs that resulting from human activities.

However, human production usually occurs in a localized area, such as a city. In such region, human output may be dominant and may temporarily overload the natural purification scheme of the cycles. The result is an concentration of noxious chemicals in the air. The concentrations at which the adverse effects appear will be greater than the concentrations that the pollutants would have in the absence of human activities. The actual concentration need not be large for a substance to be a pollutant; in fact, the numerical value tells us little until we know how much of an increase this represents over the concentration that would occur naturally in the area. For example, sulfur dioxide has detectable  health effects at 0. 08 parts per million (ppm), which is about 400 times its natural level. Carbon monoxide, however has a natural level of 0. 1 ppm and is  not usually a pollutant until its level reaches about 15 ppm.

Câu 47:  The word "detectable " is closest in meaning to ___.

A. special
B. separable
C. beneficial
D. measurable.
Câu 48:     The word "localized " is closest in meaning to ___.

A. specified
B. circled
C. encircled
D. surrounded.
Câu 49:     The word "these" in the second paragraph refers to ____.

A. the compounds moved to the water or soil
B. the various chemical reactions.
C. the pollutants from the developing Earth
D. the components in biogeochemical cycles.
Câu 50:     According to the passage, the numerical value of the concentration level of a substance is only useful if ________.

A. the other substances in the area are known
B. it can be calculated quickly.
C. it is in a localized area
D. the natural level is also known.
Câu 51:     It can be inferred from the first paragraph that ____.

A. the definition of air pollution will continue to change.
B. water vapor is an air pollutant in localized areas.
C. Most pollutants today can be seen or smelled.
D. a substance becomes an air pollutant only in cities.
Câu 52:     According to the passage, human- generated air pollution in localized regions ____.

A. will react harmfully with natural pollutants.
B. can overwhelm the natural system removing pollutants.
C. will damage area outside of the localized regions.
D. can be dwarfed by nature's output of pollutants.
Câu 53:     The word "adversely " is closest in meaning to ___.

A. considerably
B. quickly
C. negatively.
D. admittedly
Câu 54:     Which of the following is best supported by the passage?

A. Scientists should be consulted in order to establish uniform limits for all air pollutants.
B. Human activities have been effective in reducing air pollution.
C. One of the most important steps  in preserving natural lands is to better enforce air pollution laws.
D. To effectively control pollution, local government should regularly review their air pollution laws.
Câu 55:     For which of the following reasons can natural pollutants play an important role in controlling air pollution?

A. They have existed since the Earth developed.
B. They occur in greater quantities than other pollutants.
C. They're less harmful to living beings than other pollutants.
D. They function as part of a purification process.
Câu 56:     What does the passage mainly discuss?

A. The effects of compounds added to the atmosphere
B. The economic impact of air pollution.
C. What constitutes an air pollutant
D. How much harm air pollutants can cause.
Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction .

Câu 57:  This is the floppy disk which I have been looking for it all this morning.

A. which
B. it
C. morning
D. is

Câu 58:    The last payment shouldn't make until all the work has been completed and carefully checked.

A. completed
B. has been
C. checked
D. make

Câu 59:    Eggs may be boiled in the shell, scrambled, fried, and cooked in the countless another ways.

A. the shell
B. fried
C. another
D. boiled

Câu 60:    Shortly before the Allied invasion of Normandy, Ernest Hemingway has gone to London as a war correspondent for Colliers.
A. invasion
B. has gone
C. Shortly
D. correspondent

Câu 61:     Not until I was on my way to the airport that I realized I had left my passport at home.

A. Not until
B. at home
C. that I realized
D. on my way
Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is CLOSEST in meaning to the underlined part in each of the following questions .
Câu 62:  Children normally feel a lot of anxiety about their first day at school.

A. agitation
B. tranquility
C. composure
D. contentment

Câu 63:  “What I’ve got to say to you now is strictly off the record and most certainly not for publication,” said the government official to the reporter.
A. not yet official
B. beside the point
C. not recorded
D. not popular
Câu 64:     I take my hat off to all those people who worked hard to get the contract.

A. encourage
B. congratulate
C. respect
D. welcome
-----------------------------------------------
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